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TABLE 2-10.  Unmarried Mothers by Age of Mother and County of Residence,
Oregon Resident Births, 2001

County of
Residence

Total <15 15-19 20-24 25-29 30-34 35-39 40-44 45+ N.S.

Total                     13,733 61 3,671 5,324 2,593 1,307 603 166 6 2

Baker                   44 – 16 10 14 3 1 – – –
Benton                 149 1 32 64 28 15 6 3 – –
Clackamas           1,005 3 256 410 176 99 44 16 1 –
Clatsop                142 1 38 55 23 17 6 2 – –
Columbia             149 – 45 63 21 13 6 1 – –
Coos                   216 – 63 87 39 15 9 3 – –

Crook                  70 1 18 35 8 6 2 – – –
Curry                    52 – 13 23 7 2 5 2 – –
Deschutes            365 2 118 140 61 26 17 1 – –
Douglas               391 2 124 146 60 41 16 2 – –
Gilliam                  2 – – 2 – – – – – –
Grant                   20 – 5 9 2 2 2 – – –

Harney                 13 – 4 3 4 1 – 1 – –
Hood River           52 – 20 15 15 2 – – – –
Jackson               706 1 210 264 139 56 31 5 – –
Jefferson              151 1 39 56 34 11 9 1 – –
Josephine            275 1 87 98 48 30 8 3 – –
Klamath               314 2 96 138 43 19 13 3 – –

Lake                     18 – 2 7 6 3 – – – –
Lane                     1,179 5 293 466 223 115 59 17 1 –
Lincoln                 185 – 48 78 42 7 7 2 1 –
Linn                      425 2 123 183 60 41 11 5 – –
Malheur               167 – 45 72 26 16 5 2 – 1
Marion                  1,601 14 460 611 303 137 58 18 – –

Morrow                 53 – 14 17 13 6 2 1 – –
Multnomah          3,116 8 714 1,176 628 370 161 56 2 1
Polk                      216 2 72 91 27 14 9 1 – –
Sherman              3 – 1 2 – – – – – –
Tillamook             79 1 24 31 14 8 1 – – –
Umatilla                397 2 117 144 75 39 18 2 – –

Union                   95 – 33 32 22 3 3 1 1 –
Wallowa               11 – 2 6 1 1 1 – – –
Wasco                  93 – 36 37 14 4 1 1 – –
Washington          1,629 10 379 630 358 156 81 15 – –
Wheeler               3 – 1 1 – 1 – – – –
Yamhill                 347 2 123 122 59 28 11 2 – –

– Quantity is zero.


